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Bachelor of Arts (FYUP) 1% Semester
| (2124)
STATISTICS—I (In all Mediums)
Paper—STAIDC
Time Allowed : Three Hours] [Maximum Marks : 60

Note :— There are NINE questions in all. The first question is
compulsory. There are two units, each carries FOUR
questions. The candidate will be required to attempt FIVE
questions in all including the compulsory first question and
TWO questions from each Unit. Simple calculator with four
basic mathematical operations is allowed.

(Compulsory Question)

1.  Answer the following :
(1)  Differentiate between nominal and ordinal scale.
(1) What s Pie Chart and how it is constructed ?
(i) Explain mutually-exclusive events with suitable examples.
(iv) Define rank correlation and write its formula.

(v) Differentiate between discrete and continuous random
variables.

(vi) State the multiplicative probability theorem. 6x2=12
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UNIT-I

economics.

Define Statistics and discuss its importance in business and

(b) Construct the histogram and frequency polygon of the

following data :
Class Interval No. of Students
10-20 7
20-30 9
3040 13
40-50 17
50-60 11
60-70 8
70-80 5

3. (a) Define dispersion and discuss its various measures.

(b) Find Median, Mode and Standard Deviation of the following

data :
Class Interval No. of Students
10-20 7
20-30 9
3040 13
40-50 17
50-60 11
60-70 8
70-80 5
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4. Define the following :

() Skewness and Kurtosis.

() Correlation and Regression.

() Partial and Multiple Correlations.

5. (a) From the following data :

X

20

22

23

19

21

22

26[24!

Y

18

19

16

21

22

19

20 !23

(]

Obtain the line of regression of Y on X and estimate the

value of Y when X = 28.
(b) Consider the following data :

X

60

62

63

63

64

66

68

70

Y

65

66

63

66

70

70

67

69

Calculate Karl Pearson’s Coefficient of Cormrelation between

X and Y.

UNIT-1I

~
3.3

6. (a) What are the limitations of mathematical or classical definition

of probability ?

(b) Two dice are tossed. Find the probability of getting ‘an even

number on the first die or a total of §°.

(c) Explain the equally-likely and independent events.
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7. (@)

(b)

8. (a)

(b)

9. (a)

®)

The probability that a student passes a Physics test 1s % and

the probability that he passes both a Physics test and an

English test is % . The probability that he passes at least

one test is % What is the probability that he passes the
English test ?
From a city population, the probability of selecting (i) a male

or a smoker is 7/10, (ii) a male smoker is 2/5, and (iii) a
male, if a smoker is alrcady selected is 2/3. Find the

probability of selecting (a) 2 non-smoker, (b) a male, and (c)

a smoker, if a male is first selected. 2.4
1 —x /20
— x>0 "
If f(x)=+4 20 © B . Find the probabilities

0 - otherwise

that (i) PCX < 10), (ii) P(16 < X < 24), (jif) P(X = 30).

Define the cumulative distribution function and write its

properties. 3,3

Define mathematical expectation of a random variable and
find E(X) and variance of X of the following data :

X -31 6 9

P(X=x)|1/6|1/2|1/3

Define probability density function and moment generating
function. 3,3
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